0DM=A

EDUCATIONAL GROUP

I 1500000 y¢

CUBES AND CUBE ROOTS
PERIOD 1

SUBJECT : MATHEMATICS
CHAPTER NUMBER: 4
CHAPTER NAME : CUBES AND CUBE ROOTS

CHANGING YOUR TOMORROW

Website: www.odmegroup.org Toll Free: 1800 120 2316
Email: info@odmps.org Sishu Vihar, Infocity Road, Patia, Bhubaneswar- 751024



Learning outcome

O Students will be able to about properties of cubes
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Introduction

® A perfect cube is a number which is equal to the number, multiplied by itself, three
times.

e |If xis a perfect cube of y, then x = y3.
® Ex:Isthe number 600 a perfect cube?
Sol: 600 =2x2x2x3x5x5=23x3x52

The number 600 is not a perfect cube as all the prime factors is not a multiple of
three.
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Introduction to perfect cubes

https://www.youtube.com/watch?v=tWVGLSznWTs(0:37)
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http://www.youtube.com/watch?v=tWVGLSznWTs(0:37)

Evaluation Questions

Exercise-4(A)
1.(ii) Find the cube of 11.
Sol: 113=11x11x11=1331
2. (iii) I1s 1331 a perfect cube?
Sol: 1331 =11x11x11=113
~1331 is a perfect cube.
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2)

Exercise-4(A)

= 1331 =11 x 11 x 11 =(11)

@)

1331 is a perfect cube.

24000

24000 =2 x 2 x 2 x 2 x 2 x 2 x 3 x § x
5x5

= (2) x (20 x (5) x 3

~. 24000 is not a perfect cube.

)

1728

21728

w1728 =2 x2 x2x2x2x2x3x3x3

=) x @y x@3)

. 1728 is a perfect cube.
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3)

o ﬂ)’  21x21x21
A 21=21=175) = Toxioxio
o 22, v
1000
) 4 ? _ 4x4x4
(i) 0.4 = (04Y = | 70 = Tox10x10
L. S
1000
.. = (K - jextsns
(iii) 1.6 = (1.6)° = 10)  10x10x10
B A
1000
| s 25)}  25x25x25
(iv) 25 =Q@37 = | 7o) = Jox10x10
15625 _

1000
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(3)’ 3x3x3 27

D 3F=1\7) T 7x7x7 _ 383
8 _(g)’ 8x8x8 _ 512
MNs=\s Ox9x9 729
10 (E)’ _ 10x10x10 _ 1000
Gif) 13 13) ~ 13x13x13 2197

a2 (]3)’ B (lx7+2)3 ) (g)’
(iv) 17 7] = 3 .l

9%x9x9 729 22
TxTx7 343 343

SHONS

23 =1%3) =2
_ 5x5xs5 125 _ 5 ODMi
T 2x2x2 8 U8~
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5)

(H-3=(-3)P=-3x-3x=3
=3 x3 x3)=-27

(i) <7 = (TP = =7 x =7 x -7
= _(7x7 x7)=-343

(i) =12 = (~12)* = 12 x =12 x —12
= (12 % 12 x 12) = —1728

(iv) —18 = (~18)* = —18 x —18 x —18
= (18 x 18 x 18) = —5832

(v) =25 = (=25)* = 25 x —25 x —25
= (25 % 25 x 25) = —15625

(vi) =30 = (=30)’ = =30 x —30 x -30
= (30 x 30 x 30) = —27000

(vii) =50 = (~50)* = —50 x —50 x —50
= (50 x 50 x 50) = —125000
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Home assignment

Exercise 4(A)—QNo 1to5
AHA
1. By what smallest number should 3600 be multiplied, so that the quotient is a
perfect cube. Also, find the cube root of the quotient.
2. If one side of a cube is 15m in Length, then find its volume
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